
6 U 220

3 U 220

61500-078 Rev 001
 Enclosures

Montageanweisung
3 / 6 HE Baugruppenträger
SNCF, geschirmt

Assembly instructions
3 / 6 U Subrack
SNCF, shielded

Instructions de montage
3 / 6 U Bacs à cartes
SNCF, blindés

4

9

9

9

9

15

15

10,13

10,13

15

15

10,13

10,13

15

15

11,13

11,13 12,13

15

15

11,13

11,13

9

9

9

9



5

10, 13, 14

11, 13

9

15

9

15

9

2 2x

3

8 7

6 (2x)

5 (8x)

Torx 20
M4 x 6

9

Torx 20
M4 x 10

2 3

6 HE / 6 U

6

1.3 Nm

8x

9

4x2x

4x

8

1x

2x

7Pos.:

6 U

3 U

15

Torx 20
M4 x 14

16

9

Torx 20
M4 x 104

10 11 12 13 14

101314 11 12 1313

6 U2x 2x

2x 2x

14 16

4x

6x

13

1x

12

-2x

2x

11

2x

2x

10Pos.:

6 U

3 U

15 9

8x 12x

10x 16x

16 14
13

10

5

1 (2x)

2 (2x)

3 (2x)

4 (4x)

Torx 20
M4 x 8

5

Torx 20
M4 x 6

1 2x

1

4

3

2

4x

8x

5Pos.:

6 U

3 U

7 8 9

25

n x 20



5 6

1917 18

20 21

23

17

21
21

23 (4x)

22 (4x)
21

21

24 (2x) 25 (2x)

5

4x 4x

4x 8x

21 23

2x

2x

20

4x

19

2x2x

4x

18

1x

1x

17Pos.:

6 U

3 U

22

4x

8x

20

4

19

18

9 (24x)

24

24

25

26

25

9 (24x)

Torx 20
 M4 x 6

22

Torx 20
M4 x 5

26 (8x)

Torx 20
M4 x 8


	Seite1
	Seite2
	Seite3

